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£Sv&B (ö£õx AÔÄ) 

Part-B (General Studies) 

ÂÚõUPÒ  : 1–100    ö©õzu ©v¨ö£sPÒ : 150

Questions  : 1–100    Total Marks :  150

1. The term ‘PAKISTAN’ was coined by 

‘£õQìuõß’ GßÓ ö\õÀø» E¸ÁõUQ¯Áº 

(A) Muhammad Ali 
 •í®©x A¼ 

(B) Sayyid Ahmad Khan 
 ö\´¯x AP®©x Põß 

(C) M.A. Jinnah 
 •.A. âßÚõ 

(D) Rahmad Ali 
 μð©z A¼ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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2. Reason and Assertion type. 

Põμn•®, TØÖ. 

Assertion [A]  : The Quit India Movement is also known as
August Revolution 

TØÖ [A]  :  öÁÒøÍ¯÷Ú öÁÎ÷¯Ö C¯UP® BPìm ¦μm]
GßÖ® AøÇUP¨£mhx. 

Reason [R]  :  The AICC passed the Quit India Resolution on 
8th August 1942 at Bombay 

Põμn® [R]  : ACPõS (AQ» C¢v¯U Põ[Qμì SÊ) BPìm 8–À 
£®£õ°À Ti¯ TmhzvÀ öÁÒøÍ¯÷Ú öÁÎ÷¯Ö
wº©õÚ® {øÓ÷ÁØÓ¨£mhx. 

(A) [A] is true but [R] is false 
 [A] \› [R] uÁÖ  

(B) Both [A] and [R] are true and [R] is the correct explanation of 
[A] 

 [A] ©ØÖ® [R] \›; [A] –°Ýøh¯ \›¯õÚ ÂÍUP®–[R] 

(C) [A] is false, [R] is true 
 [A] uÁÖ [R] \› 

(D) Both [A] and [R] are true, but [R] is not the correct explanation 
of [A] 

 [A] ©ØÖ® [R] \›; BÚõÀ [R]– [A]°Ýøh¯ \›¯õÚ ÂÍUP©À» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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3. Which of the following is not the work of Jawaharlal Nehru? 
¤ßÁ¸ÁÚÁØÔÀ Gx áÁíº»õÀ ÷|¸Âß £øh¨¦ AÀ»? 

(i) My India My Nation 
 Gß C¢v¯õ Gß ÷u\® 

(ii) An Autobiography 
 J¸ _¯\›øu 

(iii) Glimpses of World History 
 E»P Áμ»õØÔß £õºøÁ 

(A) (i) only 
 (i) ©mk® 

(B) (ii) only 
 (ii) ©mk® 

(C) (iii) only 
 (iii) ©mk® 

(D) (ii) and (iii) only 
 (ii) ©ØÖ® (iii) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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4. Arrange the following events in Chronological Order. 
RÌPsh {PÌÄPøÍ Põ»Á›ø\¨£i AkUSP. 

1. Vedaranyam March 
 ÷Áuõμs¯® ¯õzvøμ 

2. Vaikom Satyagraha 
 øÁUP® \zv¯õQμP® 

3. Anti Hindi Agitation 
 C¢v Gvº¨¦ ÷£õμõmh® 

4. Kamaraj Plan 
 Põ©μõä vmh® 

(A) 1   2 3 4 
(B) 3 4 2  1 
(C) 2 1 3  4 
(D) 4 3 2  1 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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5. Which of the following is incorrectly paired? 
¤ßÁ¸£ÚÁØÔÀ \›¯õP ö£õ¸zu¨£hõu ö£õ¸zu[PÒ GøÁ? 

1. Kudiyarasu – Black Shirt 
 Si¯μ_  P¸¨¦a \møh 

2. Dravidanadu – Anna 
 vμõÂh |õk  Asnõ 

3. Ponmozhigal – Anna 
 ö£õßö©õÈPÒ  Asnõ 

4. Arya Mayai – Periyar 
 B›¯ ©õø¯  ö£›¯õº 

(A) 3 and 4 are incorrect 
 3 ©ØÖ® 4 \›¯õÚ¨ ö£õ¸zu[PÒ AÀ» 

(B) 1 and 2 are incorrect 
 1 ©ØÖ® 2 \›¯õÚ¨ ö£õ¸zu[PÒ AÀ» 

(C) 2 and 3 are incorrect 
 2 ©ØÖ® 3 \›¯õÚ¨ ö£õ¸zu[PÒ AÀ» 

(D) 1 and 4 are incorrect 
 1 ©ØÖ® 4 \›¯õÚ¨ ö£õ¸zu[PÒ AÀ»  

(E) Answer not known 
 Âøh öu›¯ÂÀø»  
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6. Govind Dhondu Pant, known popularly as Nanasahib, was one of
the frontline leaders of the –––––––––––. 
|õÚõ \õî¨ GßÖ ¤μ£»©õP AøÇUP¨£mh ÷PõÂ¢z ÷uõsk £¢z 
–––––––––– \®£Ázvß •ßÚo uø»ÁºPÎÀ J¸Áº. 

(A) Revolt of 1857 
 1857 B® Bsk P»P® 

(B) Protest against Rowlatt Act 
 öμÍ»m \mhzvØS GvμõÚ ÷£õμõmh® 

(C) Chauri – Chaura Incident 
 \Ä› – \Äμõ {PÌÄ 

(D) Kheda  Movement 
 ÷Phõ C¯UP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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7. Match the following 
ö£õ¸zxP 

 Editors   Journals 
 B]›¯º   CuÌPÒ 

1. Ajit Singh  – Zamindar 
 Aâz ][   á«ßuõº 

2. Siraj-ud-din Ahmad – Sandhya 
 ]μõä–Ez–vß AP©x  \¢v¯õ 

3. Brahmobandhyay  – Bande Mataram 
 ¤μ®÷©õ£¢u¯õ   £¢÷u ©õuμ® 

4. Aurobindo Ghosh  – Bharat Mata 
 AμÂ¢u ÷Põè   £õμu ©õuõ 

(A) 4   1   2   3  
(B) 4   1   3    2 
(C) 1   4   3    2 
(D) 2   3   4    1 
(E) Answer not known 
 Âøh öu›¯ÂÀø»   
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8. The following provides indigenous medical heritage 
¤ßÁ¸ÁÚÁØÔÀ, EÒ|õmk ©¸zxÁ £õμ®£›¯zøu ÁÇ[SÁx  

(A) Sarva Swasthya Abhiyan (SSA) 
 \ºÁ ìÁìv¯ A¤¯õß (SSA) 

(B) National Urban Health Mission (NUHH) 
 ÷u]¯ |Pº¨¦Ó _Põuõμ £o (NUHH) 

(C) Janani Suraksha Yojana (JSY) 
 áÚÛ _μUåõ ÷¯õáÚõ (JSY) 

(D) Ayurveda, Yoga and Naturopathy, Unani, Siddha and 
Homeopathy (AYUSH) 

 B²º÷Áu®, ÷¯õPõ ©ØÖ® C¯ØøP ©¸zxÁ® ²ÚõÛ, ]zuõ ©ØÖ® 

÷íõª÷¯õ£v (AYUSH) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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9. Arrange the following schemes for agricultural development in 
Chronological Order. 
ÂÁ\õ¯ ÷©®£õmiØPõÚ ¤ßÁ¸® vmh[PøÍ Põ»Á›ø\¨£i 
Á›ø\¨£kzuÄ®. 

1. National Food Security Mission 
 ÷u]¯ EnÄ £õxPõ¨¦ vmh® 

2. National Pulses Development Mission. 
 ÷u]¯ £¸¨¦ ÁÍºa] vmh® 

3. Jute Technology Mission 
 \nÀ öuõÈÀ~m£ vmh® 

4. National Agricultural Insurance Scheme 
 ÷u]¯ ÷ÁÍõs Põ¨¥mk vmh® 

(A) 1   2   3   4  
(B) 2   4   1    3 
(C) 2   4   3    1 
(D) 4   2   3    1 
(E) Answer not known 
 Âøh öu›¯ÂÀø»   
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10. The following is not an objective of ‘Beti Bachao Beti Padhao’
Scheme 

¤ßÁ¸ÁÚÁØÖÒ GøÁ ‘÷£mi £a\õ÷Áõ ÷£mi £uõ÷Áõ’ vmhzvß 
÷|õUP©À»? 

1. To stop discrimination of the girl child and the practice of Sex 
determination test 

 ö£s SÇ¢øu £õS£õk ©ØÖ® £õ¼Ú £õS£õk ÷\õuøÚ 
|øh•øÓø¯ {Özu ÷Ásk® 

2. To ensure survival and protection of Girls 
 ]ÖªPÎß E°º ©ØÖ® £õxPõ¨ø£ EÖv ö\´¯ ÷Ásk® 

3. To reduce child-sex ratio 
 SÇ¢øu £õ¼Ú ÂQuzøu SøÓUP 

4, To ensure participation of girls in education and other areas 
 PÀÂ ©ØÖ® ¤Ó xøÓPÎÀ ö£s SÇ¢øuPÎß £[PÎ¨ø£ EÖv 

ö\´¯ 

(A) 1 only 
 1 ©mk® 

(B) 3 only 
 3 ©mk® 

(C) 2 only 
 2 ©mk® 

(D) 4 only 
 4 ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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11. Match the following operational holding of land and its share in
Tamilnadu Agriculture. 
ÂÁ\õ¯ {»zvß AÍÄ ©ØÖ® uªÌ|õk ÂÁ\õ¯zvÀ Auß £[S 
BQ¯ÁØÖhß ö£õ¸zxP. 

(a) Mariginal Holdings  1. 77.18 %  
 SÖ ÂÁ\õ¯®   77.18 %  
(b) Small Holding  2. 14.55 % 
 ]Ö ÂÁ\õ¯®   14.55 % 
(c) Medium Holdings  3. 1.85 % 
 |kzuμ ÂÁ\õ¯®   1.85 % 
(d) Large Holdings  4. 0.21 % 
 ö£¸ ÂÁ\õ¯®   0.21 % 

 (a) (b) (c) (d) 
(A)  1 3 2 4     
(B)  3 2 1 4     
(C)  4 3 2 1    
(D)  1 2 3 4    
(E) Answer not known 
 Âøh öu›¯ÂÀø»  
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12. In the following, which is not the Instruments of Monetary Policy? 
RÌÁ¸ÁÚÁØÖÒ Gx £oUöPõÒøP°ß P¸Â CÀø»? 

(A) Bank Rate 
 Á[Q Ãu® 

(B) Open Market Operations 
 vÓ¢u \¢øu |hÁiUøP 

(C) Cash Reserve Ratios 
 £n C¸¨¦ ÂQu® 

(D) Interest cost of servicing the Debt 
 PhÛß Ámi ÂQu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



        GENERAL STUDIES 
    [Turn over 

15

13. Monetary policy in an underdeveloped country plays an important 
role in increasing the growth rate by: 
ÁÍºa]¯øh¯õu |õmiÀ £nÂ¯À öPõÒøP ÁÍºa] ÂQuzøu 
AvP›¨£vÀ Cuß Áõ°»õP •UQ¯ £[S ÁQUQÓx. 

(i) influencing the cost 
 ö\»ÄPøÍ AvP¨£kzxÁx  

(ii) availability of credit 
 Phß Qøh¨£x 

(iii) controlling inflation 

 £nÃUPzøu Pmk¨£kzxÁx 

(A) (i) only 
 (i) ©mk® 

(B) (ii) and (iii) only 
 (ii) ©ØÖ® (iii) ©mk® 

(C) (i) and (iii) only 
 (i) ©ØÖ® (iii) ©mk® 

(D) (i), (ii) and (iii) 
 (i), (ii) ©ØÖ® (iii) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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14. Match the following. 
ö£õ¸zxP 

 Scheme    Launched on 
 vmh®   A©À£kzu¨£mh |õÒ 

(a) Swachh Bharat Mission  1. 25-6-2015 
 y´ø© C¢v¯õ (ìÁa £õμu®) C¯UP®  25-6-2015 
(b) Smart Cities Mission  2. 2-10-2014 
 AvvÓß \õxº¯ |Pμ C¯UP®  2-10-2014 
(c) PM cares for children  3. 1-5-2016 
 ¤μu© ©¢v›°ß SÇ¢øuPÒ |» C¯UP®  1-5-2016 
(d) Pradhan Mantri Ujjwala Yojana (2.0) 4. 29-5-2021 
 ¤μu© ©¢v›°ß G›Áõ² Cøn¨¦z  29-5-2021 
 vmh® (2.0) 

 (a) (b) (c) (d) 
(A)  2 1 4 3    
(B)  2 3 1 4     
(C)  3 4 2 1    
(D)  1 2 3 4    
(E) Answer not known 
 Âøh öu›¯ÂÀø»  

15. Right to Information (RTI) enacted in the year 
£õμõÐ©ßÓzvÀ uPÁÀ AÔ²® E›ø©a \mh® C¯ØÓ¨£mh Bsk 

(A) 2004 
(B) 2006 
(C) 2005 
(D) 2003 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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16. Which of the following has recommended that the National Judicial
Council should be authorised to lay down the code of conduct for
judges? 
}v£vPÎß JÊUP ö|ÔPøÍ Âv¨£uØS ÷u]¯ }vU SÊÂØS AvPõμ® 
AÎUP¨£h ÷Ásk® GßÖ ¤ßÁ¸ÁÚÁØÖÒ Gx £›¢xøμ ö\´ux? 

(A) Administrative Reforms Commission 
 {ºÁõPa ^ºv¸zu Bøn¯® 

(B) Sarkaria Commission 
 \ºPõ›¯õ Bøn¯® 

(C) Second Administrative Reforms Commission 
 CμshõÁx {ºÁõPa ^ºv¸zu Bøn¯® 

(D) The Supreme Court of India 
 C¢v¯õÂß Ea\ }v©ßÓ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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17. Identify the one of the Non-Federal feature of the constitution. 
RÌPsh Aμ\ø©¨¤ß Tmhõma] TÓÀ»õuöÁõßøÓ PshÔP. 

(i) Flexible constitution 
 ö|QÊ® Aμ]¯»ø©¨¦ 

(ii) Independent Judiciary 
 _u¢vμ©õÚ }vzxøÓ 

(iii) Bicameral legislature 
 DμøÁ |õhõÐ©ßÓ® 

(iv) Supremacy of constitution 
 Aμ]¯»ø©¨÷£ AøÚzv¾® ÷©»õÚx 

(A) (i) and (iv) 
 (i) ©ØÖ® (iv) 

(B) Only (i) 
 (i) ©mk® 

(C) Only (iv) 
 (iv) ©mk® 

(D) All are correct 
 AøÚzx® \› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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18. The committee that first introduced the idea of constitutional status 
of the Panchayat Raj institutions was  
•uß •øÓ¯õP EÒÍõm] Aø©¨¦PÐUS Aμ]¯»ø©¨¦a \mh 
A[RPõμ® öPõkUP¨£h ÷Ásk® GÚ Á¼²Özv¯ SÊ 

(A) Ashok Mehta Committee 
 A÷\õU ÷©zuõ SÊ 

(B) L.M. Singhvi Committee 
 GÀ.G®. ][Â SÊ 

(C) Kalelkar Commission 
 PÀ÷»ÀPº SÊ 

(D) Sarkaria Commission 
 \ºUPõ›¯õ SÊ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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19. Consider the following committees find out the wrong pair. 
|õhõÐ©ßÓ {ø»U SÊ ©ØÖ® uø»Á›ß uÁÓõÚ Cønø¯ 
÷uº¢öukUP. 

(i) Political Affairs Committee – Prime Minister 
 Aμ]¯À ÂÁPõμ SÊ  ¤μu©º 

(ii) Appointments Committee – Home Minister 
 {¯©Ú[PÐUPõÚ SÊ  EÒxøÓ Aø©a\º 

(iii) Economic Affairs Committee – Finance Minister 
 ö£õ¸Íõuõμ ÂÁPõμ SÊ  {v Aø©a\º 

(iv) Parliamentary Affairs – Home Minister  

 Committee 
 |õhõÐ©ßÓ ÂÁPõμ SÊ  EÒxøÓ Aø©a\º 

(A) (ii) , (iii) and (iv) only 
 (ii), (iii) ©ØÖ® (iv) ©mk® 

(B) (ii) only 
 (ii) ©mk® 

(C) (ii) and (iv) 
 (ii) ©ØÖ® (iv) 

(D) (i) and (iv) 
 (i) ©ØÖ® (iv) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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20. Identify the correct statement with respect to Directive principles of 
state policy. 
ÁÈPõmk ö|Ô•øÓPøÍ¨ £ØÔ¯ \›¯õÚ TØÔøÚ PshÔP. 

(i) It has been borrowed from Irish Constitution. 
 Cx A¯º»õ¢x Aμ\ø©¨¤¼¸¢x ö£Ó¨£mhx. 

(ii) Through 42nd Amendment four new Directives principles were 
added to the original list. 

 42Áx \mhv¸zuzvß ‰»©õP |õßS ¦v¯ ÁÈPõmk ö|Ô•øÓPÒ 
÷\ºUP¨£mhÚ. 

(iii) Through 44th Amendment two new Directive principles were 
added to the original list 

 44Áx \mh v¸zuzvß ‰»©õP Cμsk ¦v¯ ÁÈPõmk 
ö|Ô•øÓPÒ ÷\ºUP¨£mhÚ. 

(iv) Through 97th Amendment one Directive principle relating to 
cooperative societies were added 

 97Áx \mh v¸zuzvß £i TmkÓÄ \[P[PÒ öuõhº£õÚ J¸ 
ÁÈPõmk ö|Ô•øÓ ÷\ºUP¨£mhx. 

(A) (i), (ii) and (iii) are correct 
 (i), (ii) ©ØÖ® (iii) \› 

(B) (i), (ii) and (iv) are correct 
 (i), (ii) ©ØÖ® (iv) \› 

(C) (i) and (ii) are correct  
 (i) ©ØÖ® (ii) \› 

(D) (i) and (iv) are correct 
 (i) ©ØÖ® (iv) \› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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21. The Fundamental Rights of the Indian Constitution are in general 
considered to be  
ö£õxÁõP C¢v¯ Aμ]¯À Aø©¨¦a \mhzvß Ai¨£øh E›ø©PÒ 
Gß£x 

(A) Rights granted to citizens; 
 Si©UPÐUS ÁÇ[P¨£mh E›ø©PÒ; 

(B) Mutual obligations among citizens; 
 Si©UPÐUQøh÷¯¯õÚ Ph¨£õkPÒ; 

(C) List of wishful policy statements; 
 Â¸¨¦Ö vmhU öPõÒøPPÎß £mi¯À; 

(D) Negative obligations of the state not to encroach on individual 
liberty;  

 uÛ|£º _u¢vμzøu Aμ_ GkUPU Thõx GÝ® Gvº©øÓU 

Ph¨£õkPÒ; 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

22. Find out the statement which is not correct about the Preamble of
our Constitution? 

C¢v¯ Aμ]¯»ø©¨¤ß ‘•P¨¦øμø¯’ £ØÔ¯ uÁÓõÚ TØÔøÚ PshÔP. 

(A) The preamble was amended in 1976 
 1976&® Bsk •P¨¦øμ v¸zu® ö\´¯¨£mhx 

(B) Preamble states the objects of Constitution  
 •P¨¦øμ Aμ]¯»ø©¨¤ß ÷|õUPzøu ÂÍUSQÓx 

(C) It is enforceable in a Court of Law 
 }v©ßÓzuõÀ |øh•øÓ¨£kzu Em£kzuU Ti¯uõS® 

(D) It indicate the source of Constitution  
 Aμ]¯»ø©¨¤ß Buõμ[PøÍ _miUPõmkQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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23. The Battle of Dharmat was fought between Raja Jaswant Singh and 
Aurangazeb in the year  
uº©m GßÓ ÷£õº μõáõ áìÁ¢z][ ©ØÖ® JÍμ[P^¨ C¸Á¸US® 
Cøh°À |øhö£ØÓ Bsk? 

(A) 1658 (B) 1656 
(C) 1655   (D) 1666 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

24. Which rule came to an end at the end of Battle of Talaikotta? 
uø»U÷Põmøh ÷£õ›ß •iÂÀ G¢u Bm] •iÄUS Á¢ux? 

(A) Lodi Dynasty  
 ÷»õi Á®\® 

(B) Vijayanagar Empire  
 Âá¯|Pμ¨ ÷£μμ_ 

(C) Pandian Empire 
 £õsi¯ ÷£μμ_ 

(D) Sayyid Dynasty  
 ø\¯z Á®\® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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25. “India may be described as a Museum of Cults and Creeds, Customs
and Culture” – Who remarked the statement? 

“C¢v¯õ Gß£øuU P»õa\õμ®, ©u®, £ÇUP ÁÇUP[PÒ, ÁÈ£õmk •øÓPÒ 

öPõsh A¸[Põm]¯P® GÚ ÂÍUP»õ®” GßÖ TÔ¯Áº ¯õº? 

(A) R. K. Mukherjee 
 Bº. ÷P. •Pºâ 

(B) S. K. Chatterjee 
 Gì. ÷P. \mhºâ 

(C) Mortimer Wheeler 
 ©õºi©º Ã»º 

(D) B. S. Guha 
 ¤. Gì. SPõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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26. Which of the below statements are correct about Raja Rammohan
Roy? 
μõáõμõ® ÷©õPßμõ´ £ØÔ¯ RÌPsh TØÔÀ Gx \›¯õÚx? 

(i) Raja Rammohan Roy was the Herald of New Age 
 ¦v¯ E»QØS μõáõμõ® ÷©õPßμõ´ ¤μPhÚ¨£kzu¨£mhõº  
(ii) He accepted the concept of one god 
 J÷μ PhÄÒ GßÓ öPõÒøP°øÚ HØÖU öPõshõº 
(iii) He founded the Brahmo Samaj  
 ¤μ®© \©õázøu Bμ®¤zuõº 

(A) (i) 
 (i) 
(B) (ii) 
 (ii) 
(C) (i), (ii) and (iii) 
 (i), (ii) ©ØÖ® (iii) 

(D) None of the above  
 ÷©ØTÔ¯ÁØÔÀ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

27. Who helped Muhammad Gawan in the war of succession? 
Áõ›_›ø©¨ ÷£õ›À •P®©x PÁõÝUS EuÂ ö\´uÁº ¯õº? 

(A) Kapileshwar Gajapati  
 P¤÷»èÁº Pá£v 

(B) Hambir  
 P®¥º  

(C) Purushotham Gajapati 
 ¦¸÷åõzu® Pá£v 

(D) Malik Kasan 
 ©õ¼U P\ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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28. Arrange in the chronological order.  
RÌUPshøÁPøÍU Põ» Á›ø\¨£kzxP. 

(1) Battle of Ghaghra  
 ÷PõUμõ ÷£õº  
(2) Battle of Chausa  
 ö\Í\õ ÷£õº 
(3) Battle of Khanwa  
 PõßÁõ¨ ÷£õº 
(4) Battle of Panipat I 
 •u»õ® £õÛ£m ÷£õº 

(A) (1) – (2) – (3) – (4)  

(B) (1) – (3) – (2) – (4) 

(C) (4) – (3) – (1) – (2)  

(D) (4) – (3) – (2) – (1) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

29. Who postulated that the shadow of the earth falling on the moon 
caused eclipse? 
§ª°ß {ÇÀ \¢vμÛß «x ÂÊÁuõÀ QμPn® HØ£kQßÓx GßÖ 
TÔ¯Áº ¯õº? 

(A) Aryabhatta 
 B›¯£mhº 

(B) Varahamihira  
 ÁμõPªîμº 

(C) Panini 
 £õoÛ 

(D) Nagarjuna 
 |õPºáúÚº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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30. The site of Indus valley civilization discovered with stone rubble
fortification is  
PÀ ÷Põmøh Ci£õkPÐhß Psk¤iUP¨£mh ]¢x \©öÁÎ |õPŸP |Pμ®

(A) Surkotada 
 _º÷Põuhõ 

(B) Lothal 
 ÷»õuÀ  

(C) Mohenjo-Daro  
 ö©õPg\&uõ÷μõ 

(D) Harappa 
 íμ¨£õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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31. The atmosphere consists of a mixture of gases having a relatively
uniform composition in the lower layers close to the earth. Pure dry
air on an average constitutes mainly of nitrogen, oxygen and other
gases (Argon He,H,CO 22  and 3O ). The composition can be 
represented as 
ÁÎ©sh»® §ªUS ö|¸UP©õÚ RÌ AkUSPÎÀ J¨¤mhÍÂÀ ^μõÚ 
P»øÁø¯U öPõsh Áõ² P»øÁø¯U öPõskÒÍx. \μõ\›¯õPz y¯ 
ÁÓsh PõØÔÀ •UQ¯©õP ø|mμáß ©ØÖ® BUêáß ©ØÖ® Cuμ 

Áõ²UPÒ (BºPõß, He,H,CO 22  ©ØÖ® 3O ) EÒÍÚ. \›¯õÚ P»øÁ GÚ 
GøuU SÔ¨¤h»õ®? 

(A) 78.2%, 20.8% and 0.99% 

 78.2%, 20.8% ©ØÖ® 0.99% 

(B) 78%, 21% and 1% 
 78%, 21% ©ØÖ® 1% 

(C) 75%, 24% and 1% 
 75%, 24% ©ØÖ® 1% 

(D) 76.8%, 22.3% and 1.2% 
 76.8%, 22.3% ©ØÖ® 1.2% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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32. BOD (Biological Oxygen Demand) measures the 
E°º÷Áv°¯À BUêáß £ØÓõUSøÓø¯ AÍÃk ö\´Áx Gß£x 

(A) Amount oxygen required for oxidation chemicals in water 
 }›À EÒÍ ÷Áv¨ö£õ¸mPøÍ BUê÷ÚØÓ® ö\´¯ ÷uøÁ¨£k® 

BUêáÛß AÍÄ 

(B) Amount of bacteria in a given sample of water 
 }›À EÒÍ £õUj›¯õUPÎß AÍÄ 

(C) Amount of oxygen required to decompose organic matter in 
water samples 

 }›À EÒÍ P›©¨ö£õ¸mPøÍ ]øuÄÓa ö\´¯ ÷uøÁ¨£k® 
BUêáÛß AÍÄ 

(D)  Amount of oxygen required for bacteria to decompose organic  
matter in water samples in fixed time and temperature 

 }›À EÒÍ P›©¨ö£õ¸mPøÍ ]øuÄÓa ö\´¯ £õUj›¯õUPÐUS 
÷uøÁ¨£k® BUêáß AÍÄ SÔ¨¤mh ÷|μ® ©ØÖ® öÁ¨£zvÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

33. Which one of the following factors depends on the country’s land 
resources? 
¤ßÁ¸® PõμoPÎÀ JßÖ |õmiß {» ÁÍzøu¨ ö£õÖzux 

(A) Literacy 
 PÀÂ¯ÔÄ 

(B) Sex ratio 
 £õ¼Ú ÂQu® 

(C) Density of population 
 ©UPÒ Ahºzv 

(D) Migration 
 Ch©õØÓ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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34. Find the correct answer having soil distribution in descending order 
based on area  
£μ¨£ÍÂß Ai¨£øh°À C¢v¯ ©s £μÁÀ CÓ[SÁ›ø\°À 
öuõSUP¨£mh \›¯õÚ Âøhø¯U PõsP 

(A) Alluvial soil, red soil, Black soil and desert soil 
 ÁshÀ ©s, ]Á¨¦ ©s, P¸¨¦ ©s ©ØÖ® £õø»ÁÚ ©s 

(B) Alluvial soil, black soil, red soil and desert soil 
 ÁshÀ ©s, P¸¨¦ ©s, ]Á¨¦ ©s ©ØÖ® £õø»ÁÚ ©s 

(C) Red soil, alluvial soil, black soil and desert soil 
 ]Á¨¦ ©s, ÁshÀ ©s, P¸¨¦ ©s ©ØÖ® £õø»ÁÚ ©s 

(D) Black soil, alluvial soil, red soil and desert soil 
 P¸¨¦ ©s, ÁshÀ ©s, ]Á¨¦ ©s ©ØÖ® £õø»ÁÚ ©s 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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35. Which one of the following statements is true of the monsoon of 
India? 
R÷Ç öPõkUP¨£mkÒÍ £¸Á©øÇ PõØÖz öuõhº£õÚ \›¯õÚ TØÖUPÒ 
GøÁ? 

(i) The summer monsoon winds blow from South-West direction 
so they are known as the South West monsoon. This is also 
known as the advancing monsoon 

 ÷Põøh ©õß`ß PõØÖ öuß ÷©ØQ¼¸¢x Ã_QÓx GÚ÷Á CøÁ 
öuß ÷©ØS £¸Á©øÇ GßÖ AÔ¯¨£kQßÓÚ. Cx •ß÷ÚÖ® 
£¸Á©øÇ GßÖ® AøÇUP¨£kQÓx 

(ii) The rains extend from June to September 
 áúß •uÀ ö\¨h®£º Áøμ ©øÇ }iUS® 

(A) (i) only 
 (i) ©mk® 

(B) (ii) only 
 (ii) ©mk® 

(C) Both (i) and (ii) 
 (i) ©ØÖ® (ii)BQ¯ Cμsk® 

(D) None of the above 
 ÷©ØTÔ¯ÁØÔÀ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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36. Which of the following are key objectives of the United Nations 
Framework Convention on Climate Change (UNFCCC) 
¤ßÁ¸ÁÚÁØÔÀ GøÁ £¸Á{ø» ©õØÓ® SÔzu IUQ¯ |õkPÎß 
Tmhø©¨¦ ©õ|õmiß •UQ¯ ÷|õUP[PÒ 

(i) Stabilization of green house gas concentrations in the 
atmosphere 

 ÁÎ©sh»zvÀ £_ø© CÀ» Áõ² ö\ÔøÁ {ø»¨£kzxuÀ 

(ii) Ensuring food security at global level 
 E»P AÍÂÀ EnÄ¨ £õxPõ¨ø£ EÖv ö\´uÀ 

(iii) Prevention of ozone layer depletion 
 K÷\õß ©sh»® SøÓÁøuz ukzuÀ 

(iv) Assisting developing countries to implement practices to 
mitigate climate change 

 £¸Á{ø» ©õØÓzøuz uo¨£uØPõÚ |øh•øÓPøÍ A©À£kzu 
ÁÍ¸® |õkPÐUS EuÄuÀ 

(v) Promoting the use of fossil fuels in industrial processes 
 öuõÈÀxøÓ ö\¯À•øÓPÎÀ ¦øu£iÁ, G›ö£õ¸mPÎß 

£¯ß£õmøh FUSÂzuÀ 

Choose the correct answer from the options given below. 
RÌUPshÁØÖÒ \›¯õÚ Âøhø¯z ÷uº¢öukUPÄ®  

(A) (i), (ii) and (iv) only 
 (i), (ii) ©ØÖ® (iv) ©mk® 

(B) (ii), (iv) and (v) only 
 (ii), (iv) ©ØÖ® (v) ©mk® 

(C) (i) and (iv) only 
 (i), ©ØÖ® (iv) ©mk® 

(D) (i), (iv) and (v) only 
 (i), (iv) ©ØÖ® (v) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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37. Cotton ace app is 
Põmhß Hì ö\¯¼ Gß£x 

(A) An Artificial Intelligence based pest management system 
 ö\¯ØøP ~snÔÄ Ai¨£øh°À §a] ÷©»õsø© Aø©¨¦ 

(B) An Artificial Intelligence based Covid detection application 
software 

 ö\¯ØøP ~snÔÄ Ai¨£øh°À öPõ÷μõÚõøÁ Psk¤iUP 
£¯ß£kzx® £¯ß£õmk ö©ßö£õ¸Ò  

(C) An Artificial Intelligence based attendance monitoring system 
 ö\¯ØøP ~snÔÄ Ai¨£øh°À EÒÍ Á¸øP PsPõo¨¦ 

Aø©¨¦ 

(D) An Artificial Intelligence based Health management 
information system 

 ö\¯ØøP ~snÔÄ Ai¨£øh°À EÒÍ _Põuõμ ÷©»õsø© 
Aø©¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



GENERAL STUDIES 

  

34

38. Assertion [A]  : On February 19, 2024 Chief Minister
Thayumanavar scheme was launched. 

TØÖ [A]  :  ¤¨μÁ› 19, 2024&À •u»ø©a\›ß uõ²©õÚÁº 
vmh® AÔ•P¨£kzu¨£mhx 

Reason [R]  :  To provide assistance to NGO’s and Government 
departments for protecting Girl children from 
trafficking in rural areas. 

Põμn® [R]  : FμP¨ £SvPÎÀ ö£s SÇ¢øuPÒ Phzu¨£kÁøuz
ukzx¨ £õxPõUS® ÁøP°À Aμ_ \õμõ Aø©¨¦UPÒ 
©ØÖ® Aμ\õ[P xøÓPÐUS EuÂ AÎUP¨£kQÓx 

(A) [A] is true, but [R] is false 
 [A] \›¯õS® BÚõÀ [R] uÁÓõS® 

(B) Both [A] and [R] are true, and [R] is the correct explanation 
of [A] 

 [A] ©ØÖ® [R] BQ¯øÁ \›¯õS®. ©ØÖ® [R] Gß£x [A]-Gß£uß 
\›¯õÚ ÂÍUP® BS® 

(C) [A] is false, but [R] is true 
 [A] Gß£x uÁÓõS® BÚõÀ, [R] Gß£x \›¯õS® 

(D) Both [A] and [R] are true; but [R] is not the correct explanation 
of [A] 

 [A] ©ØÖ® [R] BQ¯øÁ \›¯õS®; BÚõÀ [R] Gß£x [A]-Gß£uß 
\›¯õÚ ÂÍUP® AÀ» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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39. When was launched the All Village Anna Renaissance Scheme? 
AøÚzx Qμõ© Asnõ ©Ö©»ºa] vmh® G¨÷£õx öuõh[P¨£mhx? 

(A) January, 2007 
 áÚÁ›, 2007 

(B) March, 2007 
 ©õºa, 2007 

(C) January, 2009 
 áÚÁ›, 2009 

(D) June, 2009 
 áúß, 2009 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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40. Which of the following statements are true about Mahatma Gandhi?
©Põz©õ Põ¢v²hß öuõhº¦ Eøh¯ ¤ßÁ¸® TØÖUPÎÀ GøÁ 
\›¯õÚx?  

(1) He returns to India from South Africa in the year 1920 
 AÁº öußÚõ¨¤›UPõÂÀ C¸¢x C¢v¯õÂØS v¸®¤¯ Á¸h® 

1920 

(2) Rabindra Nath Tagore first called him as “Mahatma” 
 μ¥¢vμ |õz uõTº •uÀ •u¼À ©Põz©õ GßÖ AøÇzuõº 

(3) Subash Chandra Bose first called him as father of Nation 
 _£õè \¢vμ ÷£õì •uÀ •u¼À AÁøμ ÷u\z u¢øu GÚ AøÇzuõº

(A) (1) only  
 (1) ©mk® 

(B) (1) and (2) only  
 (1) ©ØÖ® (2) ©mk® 

(C) (2) and (3) only 
 (2) ©ØÖ® (3) ©mk® 

(D) (1) and (3) only 
 (1) ©ØÖ® (3) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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41. An institute which recently launched North India’s first human
DNA Bank under ‘Make in India’ Initiative  

‘÷©U Cß C¢v¯õ’ •¯Ø]°ß RÌ ÁhC¢v¯õÂß •uÀ ©Ûu i.Gß.H 
Á[Q°øÚ \«£zvÀ AÔ•P¨£kzv¯ PÀÂ {ÖÁÚ® 

(A) IIT, Kanpur 
 I.I.i, Põß§º  

(B) IIT, Chennai 
 I.I.i, ö\ßøÚ  

(C) Delhi University, New Delhi 
 öhÀ¼ £ÀPø»UPÇP®, ¦xöhÀ¼  

(D) Banaras Hindu University, Varanasi 
 £Úõμì C¢x £ÀPø»UPÇP®, Áõμnõ]  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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42. Which of the following is incorrectly matched? 
RÌPshÁØÖÒ uÁÓõÚ ö£õ¸zuzøu PshÔP.  

(1) World Rabies Day   –  27th September 

 E»P ÷μ¤ì vÚ®   27 ö\¨h®£º  

(2) World Tourist Day   –  28th September 

 E»P _ØÖ»õ vÚ®    28 ö\¨h®£º   

(3) International Peace Day –  21st September 

 \ºÁ÷u\ Aø©v vÚ®    21 ö\¨h®£º 

(4) World Teachers Day   –  5th October 

 E»P B]›¯º vÚ®  5 AU÷hõ£º 

(A) (1) and (2) only 
 (1) ©ØÖ® (2) ©mk® 

(B) (2) and (3) only 
 (2) ©ØÖ® (3) ©mk® 

(C) (3) and (4) only 
 (3) ©ØÖ® (4) ©mk® 

(D) (1) and (4) only 
 (1) ©ØÖ® (4) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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43. The frequency of siren increases as it comes near you and then 
diminishes as it passes away. But it remains the same inside the
ambulance. What is the reason? 
B®¦ö»ßì |® A¸QÀ Á¸®ö£õÊx ø\μß J¼ AvP©õPÄ®, |®ø©U 
Ph¢x ö\À¾®ö£õÊx SøÓÁõPÄ® ÷PmQÓx. BÚõÀ B®¦»ßêÀ J÷μ 
©õv› ÷PmQÓx. Põμn® ¯õx? 

(A) Doppler effect 
 hõ¨Íº ÂøÍÄ 

(B) Stark effect 
 ìhõºU ÂøÍÄ 

(C) Zeeman effect 
 ^©ß ÂøÍÄ 

(D) Photo electric effect 
 JÎªß ÂøÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

44. A rocket works on the principle of conservation of –————— 
RÌPõq® G¢u AÈÂßø© Âv¨£i J¸ HÄPøn C¯[SQÓx? 

(A) Force 
 Âø\ 

(B) Energy  
 BØÓÀ 

(C) Linear momentum  
 ÷|›¯À E¢u® 

(D) Mass 
 {øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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45. RED DATA Book is published by  
]Á¨¦ uμÄ ¦zuP® ¯õμõÀ öÁÎ°h¨£kQÓx? 

(A) International union for conservation of nature  
 C¯ØøP £õxPõ¨¦UPõÚ \ºÁ÷u\ JßÔ¯®  

(B) Botanical Survey of India  
 C¢v¯z uõÁμÂ¯À AÍÁõ´Ä {ÖÁÚ®  

(C) Zoological Survey of India  
 C¢v¯ Â»[SPÒ AÍÁõ´Ä {ÖÁÚ®  

(D) Intergovernmental panel on Climate change  
  Põ»{ø» ©õØÓ® SÔzu Aμ_PÐUQøh÷¯¯õÚ SÊ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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46. Assertion [A]  : By learning about the history of science we
learn about the scientific development.  

TØÖ [A]  :  AÔÂ¯¼ß Áμ»õØøÓ¨ £ØÔ AÔ¢x öPõÒÁuß
‰»®, AÔÂ¯À ÁÍºa] £ØÔ AÔ¢x öPõÒÍ»õ®. 

Reason [R]  :  When you read a book that describes the life of 
a person who lived in the past we can get some 
idea such as what to do and what not to do. 

Põμn® [R] : Ph¢u Põ»zvÀ ÁõÌ¢u J¸Á›ß ÁõÌUøPø¯
ÂÁ›US® ¦zuPzøu¨ £iUS®÷£õx GßÚ ö\´¯ 
÷Ásk®, GßÚ ö\´¯UThõx ÷£õßÓ ]» 
÷¯õ\øÚPøÍ¨ ö£Ó»õ®.  

(A) [A] is true, but [R] is false 

 [A] \› BÚõÀ [R] uÁÖ 

(B) Both [A] and [R] are true; [R] is the correct explanation 
of [A] 

 [A] ©ØÖ® [R] Cμsk® \› [R] [A]-Âß \›¯õÚ ÂÍUP®  

(C) [A] is false but [R] is true 
 [A] uÁÖ BÚõÀ [R] \› 

(D) Both [A] and [R] are true [R] is not the correct explanation of
[A] 

 [A] ©ØÖ® [R] Cμsk® \› [A] [R] Âß \›¯õÚ ÂÍUPªÀø»  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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47. Which among the following elements is used in the manufacture of 
freon compound? 
RÌUPsh G¢uz uÛ©® ¨›¯õß ÷\º©® u¯õ›UP¨ £¯ß£kQÓx? 

(A) Nitrogen 
 ø|mμáß 

(B) Carbon 
 Põº£ß 

(C) Hydrogen  
 øímμáß 

(D) Bromine  
 ¦÷μõªß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

48. During which stage of meiosis crossing over occurs  
SßÓÀ £S¨¤ß G¢u {ø»°À SÖUöPvº ©õØÓ® {PÌQÓx  

(A) Leptotene  
 ö»¨÷hõjß 

(B) Zygotene 
 ø\÷Põjß  

(C) Pachytene 
 £õQjß 

(D) Diplotene 
 i¨÷Íõjß  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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49. Bordetella Pertussis Bacteria causes –————— in children.  
÷£õºöhm»õ ö£ºk]ì £õUj›¯õ SÇ¢øuPÎh® HØ£kzxÁx —————
BS®.  

(A) Diptheria  
 öuõsøh AÇØ] 

(B) Sore Throat 
 öuõsøh Á¼ 

(C) Pneumonias  
 áßÛ 

(D) Whooping cough  
 PUSÁõß C¸©À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

50. The effect of temperature on electronic and ionic polarisabilities are 
ªßÚq •øÚÁõUP® ©ØÖ® A¯Û¯õUP •øÚÁõUPzvß «x 
öÁ¨£{ø» GzuøP¯ uõUPzøuU öPõsi¸US®? 

(A) Directly propotional to temperature 
 öÁ¨£ {ø»US ÷|º ÂQuz öuõhºø£U öPõsi¸US®  

(B) Inversely propotional to temperature  
 öÁ¨£{ø»US Gvº ÂQuz öuõhºø£U öPõsi¸US®  

(C) Directly propotional to square of temperature  
 öÁ¨£{ø»°ß C¸©iUS ÷|º ÂQuz öuõhºø£U öPõsi¸US®  

(D) Independent of temperature  
 öÁ¨£{ø»ø¯a \õμõx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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51. e-Governance plan in Tamilnadu was introduced in the year 
uªÌ|õmiÀ ªß BÐø©zvmh® AÔ•P£kzu¨£mh Bsk 

(A) May – 2011 
 ÷© – 2011 

(B) May – 2006 
 ÷© – 2006 

(C) May – 2008 
 ÷© – 2008 

(D) May – 2009 
 ÷© – 2009 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

52. The second largest state contributing to GDP in India is 
C¢v¯õÂß ö©õzu EÒ|õmk EØ£zv°À £[PÎUS® CμshõÁx ö£›¯ 
©õ{»® 

(A) Gujarat (B) Uttar pradesh 

 Sáμõz   Ezuμ¨¤μ÷u\® 

(C) Tamil Nadu (D) Maharashtra 
 uªÌ|õk  ©Põμõèiμõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

53. In which year, Madras state was renamed as Tamilnadu? 
ö©mμõì ©õ{»® G¢u Bsk uªÌ|õk GßÖ ö£¯›h¨£mhx? 

(A) 1972 (B) 1969 

(C) 1960 (D) 1963 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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54. The Chief Minister comprehensive Health Insurance scheme was 
formerly known as 
•u»ø©a\›ß Â›ÁõÚ ©¸zxÁUPõ¨¥mkz vmh©õÚx CuØS •ß¦ 
–––––––––– GÚ AøÇUP¨£mhx. 

(A) Amma Insurance 
 A®©õ Põ¨¥k 

(B) New Health Insurance scheme 
 ¦v¯ _Põuõμ Põ¨¥k vmh® 

(C) Health and family welfare 
 EhÀ ©ØÖ® Sk®£ |»ß 

(D) Kalaignar Kaappitu thittam 
 Pø»bº Põ¨¥mk vmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

55. —————— is a scholarship initiative that provides financial
support to young girls and their families who live in poverty. 
—————— Gß£x ÁÖø©°À Áõk® CÍ® ö£sPÒ ©ØÖ® AÁºPÍx 
Sk®£[PÐUS {v EuÂ ÁÇ[S® J¸ EuÂöuõøP •¯Ø]¯õS®. 

(A) Ladhi Lakshmi Yojana 
 »v »èª ÷¯õáÚõ 

(B) Child Protection scheme 
 SÇ¢øuPÒ £õxPõ¨¦ vmh® 

(C) Balika Samridhhi Yojana 
 £õ¼Põ \®›zv ÷¯õáÚõ 

(D) Beti Bachao Padhao scheme 
 ÷£mi £a÷\õ £uõ÷Áõ vmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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56. Choose the right answer among the type 
\›¯õÚ Âøhø¯ ÷uºÄ ö\´P : 

Which of the following statements are true about Regulated 
market? 
JÊ[S•øÓ ÂØ£øÚUTh® £ØÔ¯ RÌUPsh \›¯õÚ TØÖUPøÍU 
SÔ¨¤kP 

(i) to eliminate the malpractices encountered by the farmers at
the hands of middlemen 

 ÷ÁÍõs ö£õ¸mPøÍ A[Põi£kzx®÷£õx CøhzuμPºPÍõÀ 
_μsh¨£kÁøu ÷£õUSÁuØS 

(ii) to sell the perishable products such as fruits and vegetables 
 GÎvÀ AÈ¯UTi¯ ÷ÁÍõs ö£õ¸mPÍõÚ Põ´PÒ ©ØÖ® PÛPøÍ 

ÂØ£øÚ ö\´¯ 

(iii) to secure fair price for produce of farmers 
 ÷ÁÍõs EØ£zv¯õÍºPÒ {¯õ¯©õÚ Âø»ø¯ u[PÎß EØ£zvUS 

ö£Ó 

(A) (i) only (B) (i) and (iii) only 

 (i) ©mk®   (i) ©ØÖ® (iii) ©mk® 

(C) (i) and (ii) only (D) (ii) and (iii) only 
 (i) ©ØÖ® (ii) ©mk®  (ii) ©ØÖ® (iii) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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57. Choose the correct statement : 
\›¯õÚ Âøhø¯z ÷uºÄ ö\´¯Ä® : 

(1) The National Commission for Women (NCW) is a statutory 
body. 

 ö£sPÐUPõÚ ÷u]¯ Bøn¯® Gß£x J¸ \mh¨§ºÁ Aø©¨¦
 BS® 

(2) NCW was established in 1992 
 C¢u Aø©¨¦ 1992&CÀ {ÖÁ¨£mhx 

(3) This commission publishes monthly newsletter ‘Rashtra 
Mahila’. 

 C¢u Bøn¯® ‘μõèi›¯ ©QÍõ’ GßÝ® ©õua ö\´v©hø» 
öÁÎ°kQÓx. 

(A) Only (1) and (2) correct (B) (1), (2) and (3) are correct 

 (1) ©ØÖ® (2) \›   (1), (2) ©ØÖ® (3) \› 

(C) Only (3) (D) Only (2) and (3) correct 
 (3) ©mk®  (2) ©ØÖ® (3) \› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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58. Which of the following are the objectives of Self-Respect league? 
¤ßÁ¸ÁÚÁØÔÀ _¯©›¯õøu C¯UPzvß ÷|õUP[PÒ GøÁ? 

(I) Reforming Dravidian society to make it truly rational 
 vμõÂh \•uõ¯zvøÚ Esø©¯õÚ £SzuÔÄ öPõshuõP ©õØÖ® 

ÁøP°À ^ºv¸zu® ö\´uÀ 

(II) Teaching about ancient Tamil civilizations to Dravidians 
 £Ç[Põ» uªÌ |õP›P[PøÍ vμõÂhºPÐUS PØ¤zuÀ 

(III) Permitting to keep practicing superstitious beliefs 
 ‰h|®¤UøPPøÍ Pøh¤izuø» AÝ©vzuÀ 

(IV) Adapt to social and cultural dominance 
 \‰P ©ØÖ® P»õa\õμ ÷©»õvUPzvøÚ uÊÄuÀ 

(A) (I) and (III) only 
 (I) ©ØÖ® (III) ©mk® 

(B) (II) and (III) only 
 (II) ©ØÖ® (III) ©mk® 

(C) (III) and (IV) only 
 (III) ©ØÖ® (IV) ©mk® 

(D) (I) and (II) only 
 (I) ©ØÖ® (II) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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59. Assertion [A] : North East Monsoon is a major source of water in
Tamilnadu 

TØÖ [A] : ÁhQÇUS¨£¸Á©øÇ uªÌ|õmiß •UQ¯ }º
Buõμ©õS®  

Reason [R] : The North East Monsoon period in Tamilnadu is 
September to November  

Põμn® [R] : uªÌ|õmiÀ ÁhQÇUS¨ £¸Á©øÇUPõÚ Põ»®
ö\¨h®£º •uÀ |Á®£º Áøμ BS®  

(A) Both [A] and [R] are incorrect 
 [A] ©ØÖ® [R] uÁÖ 

(B) [A] and [R] are correct, but [A] does not explain [R] 
 [A] ©ØÖ® [R] \› BÚõÀ [A] [R]-ø¯ ÂÍUPÂÀø» 

(C) [A] is correct and [R] is incorrect 
 [A] \› ©ØÖ® [R] uÁÖ 

(D) [A] and [R] are correct and [A] explains [R] 
 [A] ©ØÖ® [R] \› ©ØÖ® [A] [R] ø¯ ÂÍUSQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

60. How important the HDI is because? 
©Ûu ÁÍºa]USÔ±k GuÚõÀ •UQ¯©õÚx? 

(A) it includes good governance 
 AvÀ |À»õm]²® Ah[S® 

(B) it eliminates poverty 
 Ax ÁÖø©ø¯ }USQÓx 

(C) in includes life expectancy, education and percapita income 
 CvÀ B²mPõ»®, PÀÂ ©ØÖ® uÛ|£º Á¸©õÚ® Ah[S® 

(D) it eliminate unemployment 
 Cx ÷Áø»°ßø©ø¯ }USQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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61. Choose among the following the correct statement about salt 
Satyagraha in Tamil Nadu  
RÌPsh öuõhºPÎÀ E¨¦ \zv¯õQμPzøu £ØÔ \›¯õÚÁØøÓ ÷uºÄ 
ö\´P. 

(1) Volunteers who tried to carry out Salt Sathyagraha in 
Rameswaram were arrested. 

 Cμõ÷©_ÁμzvÀ E¨¦ \zv¯õQμP® ÷©ØöPõÒÍ •¯ßÓ öuõshºPÒ 
øPx ö\´¯¨£mhÚº. 

(2) Ruckmani Lakshmipathi was the first woman to be prisoned 
for violating the salt laws. 

 E¨¦ \mh[PøÍ «Ô¯uØPõP ]øÓ ö\ßÓ •uÀ ö£s©o ¸U©o 
»m_ª£v BÁõº.  

(3) On April 27, 1930, ten people were killed in a clash with the 
police at Tiruvallikeni. 

 1930H¨μÀ 27CÀ v¸ÁÀ¼U÷Po°À £zx ÷£º PõÁÀ xøÓ²hß 
HØ£mh ÷©õu¼À E°›Ç¢uÚº.  

(A) (1) and (3) only 
 (1) ©ØÖ® (3) ©mk® 

(B) (1) true (2), (3) false 
 (1) ©mk® \› (2), (3) uÁÖ 

(C) (1) and (2) only 
 (1) ©ØÖ® (2) ©mk® 

(D) (1) false (2), (3) only true 
 (1) uÁÖ (2), (3) \› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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62. When and where Periyar was elected as the President of Tamilnadu
Congress Session? 
G¢u Bsk G[S |øhö£ØÓ uªÌ|õk Põ[Qμì ©õ|õmiØS ö£›¯õº 
uø»ÁμõP ÷uº¢öukUP¨£mhõº? 

(A) 1924, Thiruvannamalai 
 v¸Ásnõ©ø» 1924  

(B) Vellore 1938 
 ÷Á¿º 1938 

(C) Kanchipuram 1937 
 Põg]¦μ® 1937 

(D) Tiruppur 1935 
 v¸¨§º 1935 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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63. “The Madras Presidency is the habitat of the Tamil race whose
civilization was the most ancient and a branch of whom called the
Sumerians, spread a vast civilization on the banks of the Euphrates,
in very ancient times; whose astrology, religious lore, morals, rites,
etc, furnished the foundation for the Assyrian, and Babylonian
civilizations and whose mythology was the source of the Christian
Bible. Another branch of these Tamils spread from the Malabar
coast, and gave rise to the wonderful Egyptian civilization, and the
Aryans also are indebted to this race in many respects” was said by? 
©uμõé ©õPõn©õÚx uªÌ CÚ ©UPÎß ÁõÌÂh©õP C¸UQÓx. 
AÁºPÎß |õPŸP©õÚx BPz öuõßø©¯õÚx® ©ØÖ® AÁºPÎß J¸ 
¤›ÂÚ÷μ ³¨μjì |vUPøμ°À ¤μ®©õsh |õPŸPzøu HØ£kzv¯ 
_÷©›¯ºPÒ GßÖ®, £søh¯ Põ»zv¯ uªÇºPÎß  ÁõÚ \õìvμ®, \©¯¨ 
£õhÀPÒ, }vö|ÔPÒ, \h[SPÒ ©ØÖ® CßÚ¨ ¤Ó xøÓPÎß 
ÁÍºa]¯õÚx A]›¯ ©ØÖ® £õ¤÷»õÛ¯ |õPŸP[PÎß AizuÍ[PøÍ÷¯ 
HØ£kzv¯öußÖ® ©ØÖ® AÁºPÎß ¦μõn C»UQ¯® £ØÔ¯ B´÷Á 
Q¸zxÁ©u ø£¤Îß Ai‰»©õS®. uªÇ›ß ©ØöÓõ¸ ¤›ÂÚ÷μ ©»£õº 
PhØPøμ°¼¸¢x Ch®ö£¯º¢x Av\¯©õÚ GQ¨v¯ |õPŸPzvß 
ÁÍºa]US ÂzvmhÚº ©ØÖ® B›¯ºPÐ® £» ÷Põn[PÎÀ C¢u 
CÚzvØS Phß£mkÒÍÚº ¯õº öu›Âzux?    

(A) Swami Vivekanada 
 _Áõª Â÷ÁPõÚ¢uº 

(B) Swami Dayandha Saraswathi 
 _Áõª u¯õÚ¢u \μìÁv 

(C) Balagangadhar Tilak 
 £õ»P[Põuº v»Pº 

(D) Max Muller 
 ©õUì •À»º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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64. The major aim of establishing the South Indian People's association
was 
öußÛ¢v¯ ©UPÒ |» Tmhø©¨¦ {ÖÁ¨£ku¼ß •UQ¯ ÷|õUP®  

(A) To provide a hostel for Non-Brahmin students 
 ¤μõ©nº AÀ»õ÷uõ¸UPõÚ Âkv JßøÓ AÎzuÀ 

(B) To Publish English, Telugu and Tamil Newspapers to voice 
Non-Brahmin grievances 

 ¤μõ©nº AÀ»õuÁºPÎß x¯μ[PÐUS SÓÀöPõkUP B[Q»®, 
öu¾[S ©ØÖ® uªÌ £zv›UøPPøÍ öÁÎ°kuÀ 

(C) Promote political interest of Non-Brahmins 
 ¤μõ©nº AÀ»õuÁºPÎß Aμ]¯À |»øÚ ÷©®£kzxuÀ 

(D) Survey the condition of Non-Brahmin community 
 ¤μõ©nº AÀ»õ÷uõ›ß {ø»ø¯ PnUöPkzuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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65. Which is/are the objective/s of a sound “Grow more food Campaign” 
started in 1942? 

1942À öuõh[P¨£mh “£_ø© ¤μõa\õμzvß” ÷|õUP® GøÁ? 

(i) To increase in the area of land cropped and the increase in yield 
per unit of area. 

 £°›h¨£k® {»¨£μ¨ø£ AvP›UP ÷Ásk® J¸ ³Ûm £Sv°ß 
ÂøÍa\ø» AvP›UP ÷Ásk®.  

(ii) Million acres are used to increase double cropping. 
 Cμmøh¨ £°º \õS£i°ß Põμn©õP ªÀ¼¯ß PnUPõÚ HUPº 

£°›h¨ £¯ß£kzu¨£kQÓx. 

(iii) To ensure fair prices for the produce of the farmers. 
 ÂÁ\õ°PÎß ÂøÍö£õ¸mPÐUS {¯õ¯©õÚ Âø»ø¯ EÖv ö\´¯ 

÷Ásk®. 

(A) (i) only 
 (i) ©mk® 

(B) (ii) and (iii) only 
 (ii) ©ØÖ® (iii) ©mk® 

(C) (i) and (ii) only 
 (i) ©ØÖ® (ii) ©mk® 

(D) (i) and (iii) only 
 (i) ©ØÖ® (iii) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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66. Which of the following is incorrectly paired? 
RÌPshÁØÖÒ GøÁ uÁÓõP ö£õ¸zu¨£mkÒÍx? 

(1) Ayothi Dasar – Indian Buddhist 
 A÷¯õzv uõ\º – C¢v¯ ¦zu \ø£ 

(2) Dr. Nadesa Mudaliyar – Adi Dravida Mahajana Sabha 
 hõUhº |÷h\ •u¼¯õº – Bv vμõÂh ©PõáÚ \[P® 

(3) Rettaimalai Srinivasan – Madras United League 
 Cμmøh©ø» ^ÛÁõ\ß – ö\ßøÚ IUQ¯ Tmhø©¨¦ 

(4) Varadharajalu Naidu – Madras Presidency Association 
 Áμuμõáü¾ |õ²k – ö\ßøÚ ©õPõn \[P® 

(A) (1) and (3) are incorrect 
 (1) ® (3) ® uÁÖ  

(B) (2) and (4) are incorrect 
 (2) ® (4) ® uÁÖ 

(C) (2) and (3) are incorrect 
 (2) ® (3) ® uÁÖ 

(D) (3) and (4) are incorrect 
 (3) ® (4) ® uÁÖ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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67. What is the very important purpose of Thiruvalluvar’s ethical
values? 
ÁÒÐÁº TÖ® AÓa]¢uøÚPÎß ªP •UQ¯©õÚ ÷|õUP®  

(A) To the way for life in heaven 
 ÷uÁ÷»õP ÁõÌUøPUS ÁÈ Põmk® 

(B) To support for the life of hermit 
 xÓÄ ÁõÌÄUS EÖxøn¯õS® 

(C) To helpful for life on earth 
 ©sq»P ÁõÌUøPUS EuÄ® 

(D) To eradicate the desire on life  
 ÁõÌÂß «uõÚ £ØøÓ }US® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

68. According to Valluvar which one should not exist in the country?  

“J¸ |õk Gß£x GuøÚ¨ ö£Óõ©À C¸UP ÷Ásk®”, GßÖ ÁÒÐÁº 
TÖQÓõº?  

(A) Excessive starvation 
 EÖ£] 

(B) Wealth 
 ö\ÀÁ® 

(C) Health 
 B÷μõUQ¯® 

(D) Education 
 PÀÂ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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69. If a man never indulges —————— in his heart, he will at once 
obtain whatever he has thought of 
EÒÎ¯ öuÀ»õ® EhßG´x® EÒÍzuõÀ  

EÒÍõß —————— GÛß. 

(A) Stealing 
 Bø\ 

(B) Theft 
 PÍÄ 

(C) Killing 
 öPõø» 

(D) Anger 
 ÷Põ£® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

70. Who every good have killed, may yet destruction flee; who ‘benefit’
has killed, that man shall ne’er scape free! 
What does the above Thirukkural emphasizes? 
G¢|ßÔ öPõßÓõºUS® E´Äshõß E´ÂÀø»  
ö\´¢|ßÔ öPõßÓ ©PØS.  
         – CUSÓm£õ Á¼²ÖzxÁx 

(A) Rendering help 
 EuÂ ö\´uÀ 

(B) Benevolence 
 A¸Ò TÓÀ 

(C) Streamlining 
 ö|Ô¨£kzxuÀ 

(D) Remembering the benefit 
 |ßÔ ©ÓÁõø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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71. Who is popularly known as “Needu thuyil neekka paadi vantha
Nila”? 

“}k x°À }UP¨ £õi Á¢u {»õ” GßÓ öuõhμõÀ AøÇUP¨£k£Áº ¯õº? 

(A) Bharathi dasan (B) Kavimani 
 £õμvuõ\ß      PÂ©o 

(C) Bharathiar   (D) Pukalenti Pulavar 
 £õμv¯õº     ¦P÷Ç¢v¨ ¦»Áº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

72. ‘‘Kokilathai Naanvidupen Kokilamum  
Kaakai inam valiyankku anjume’’.  

What do you mean by Kokilam? 

“÷PõQ»zøu |õß Âk¨÷£ß ÷PõS»•®  

PõUøP CÚ® BQ Á¼¯õÝUS Ag_÷©”  
CvÀ “÷PõQ»®” GÚ¨£kÁx ¯õx? 

(A) Black drango (B) Cuckoo 
 P›US¸Â      S°À 

(C) Falcon   (D) Pigeon 
 ÁÀ¿Ö     ¦Óõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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73. In ‘Kurunthogai’ whose love is compared to “Sembula Peyalneer”?
The love between the 

“ö\®¦»¨ ö£¯À}º” GßÓ ö\õØöÓõhº ¯õ¸øh¯ Aß¤ØS EÁø©¯õP 
SÖ¢öuõøP°À TÓ¨£mkÒÍx? 

(A) Heroine and her friend (B) Heroine and her nurse  
 uø»Â ÷uõÈ      uø»Â ö\Â¼zuõ´ 

(C) Heroine and her mother (D) Heroine and her hero 
 uø»Â |ØÓõ´    uø»Â uø»Áß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

74. What is the meaning of the kural “As ‘Give’ the robber cries with 
lance uplift, so kings with sceptred hand implores his gift”? 

‘‘÷Áö»õk {ßÓõß CkGßÓx÷£õ¾®  

÷Põö»õk {ßÓõß CμÄ’’ GßÓ SÓÎß ö£õ¸Ò GßÚ? 

(A) A cruel king works injustice 
 •øÓ ö\´¯õu ©ßÚß öPõk¢öuõÈ»ß  

(B) A cruel king will loose his kingdom 
 •øÓö\´¯õu ©ßÚß |õmøh CÇ¨£õß  

(C) A cruel king will lose his kingdom and subjects 
 •øÓö\´¯õu ©ßÚß |õmøh²® SiPøÍ²® CÇ¨£õß  

(D) A cruel king is like a daylight robber 
 •øÓö\´¯õu ©ßÚß ÁÈ¨£Ô ö\´²® PÒÁøÚ¨÷£õßÓÁß 
(E)  Answer not known 
 Âøh öu›¯ÂÀø»  
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75. Match the following type : 
¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zxP. 

(a) Strabo 1. Greek Historian 
 ìmμõ÷£õ  Q÷μUP Áμ»õØÓõÍº 
(b) J.A. Dubois 2. Roman Traveller 
 J.A. k÷£õ°ì  ÷μõ©¨£¯o 
(c) Megasthenes 3. Chinese Traveller 
 ö©PìuÛì  ^Ú¨£¯o 
(d) Fahien 4. French Missionary 
 £õQ¯õß  ¤öμg_ ªöåÚ› 

 (a) (b) (c) (d) 
(A)  4 2 3 1 
(B)  2 4 1 3  
(C)  1 3 2 4 
(D)  2 3 4 1 
(E) Answer not known 
 Âøh öu›¯ÂÀø»  

76. If A’s salary is 25% less than B’s salary, by how much percent is B’s
salary more than A’s? 

A  ß Á¸©õÚ® B ß Á¸©õÚzøu Âh 25% SøÓÄ GÛÀ B ß Á¸©õÚ® 

A  ß Á¸©õÚzøu Âh GzuøÚ \uÃu® AvP®? 

(A) 
3
133 % (B) 25%  

(C) 
3
125 %   (D) 33% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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77. If x=

+
+

+

+

4
1

1

1
3

1
2

5
4

3

1
2

, then find the value of x  

x=

+
+

+

+

4
1

1

1
3

1
2

5
4

3

1
2

 GÛÀ x  ß ©v¨¦ PõsP. 

(A) 4 (B) 5  
(C) 1   (D) 2 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

78. The GCD of 54340 zyx , 32448 zyx ,  zyx 3264  

54340 zyx , 32448 zyx ,  zyx 3264  ß «.ö£õ.Á. _________ BS®. 

(A) 2228 zyx  (B) 228 yzx   

(C) 228 zyx    (D) zyx 228  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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79. Three numbers are in the ratio is 2 : 3 : 5 and their LCM is 1200, 
find the HCF. 

‰ßÖ GsPÒ 2 : 3 : 5 GßÓ ÂQuzvÀ Aø©¢xÒÍx ©ØÖ® AÁØÔß 

«.ö£õ.©. 1200 GÛÀ «.ö£õ.Á PõsP 

(A) 80 (B) 50 
(C) 60   (D) 40 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

80. The LCM of two numbers is 24 the numbers are in the ratio 2 : 3.
Find the sum of the two numbers. 

C¸ GsPÎß «.ö£õ.©. 24. AÆÂ¸ GsPÒ 2 : 3 GßÓ ÂQuzvÀ 
C¸US® GÛÀ AÆÂ¸ GsPÎß TkuÀ PõsP. 

(A) 20 (B) 24 
(C) 16   (D) 12 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

81. Find the L.C.M. of 
9
7

,
5
3

,
3
2

 and 
13
9

 

9
7

,
5
3

,
3
2

 ©ØÖ® 
13
9

 BQ¯ GsPÎß «.ö£õ.©õ PõsP. 

(A) 21 (B) 28 
(C) 126   (D) 42 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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82. The ratio of 1 hour to 9 seconds is  

1 ©oUS® 9 ÂÚõiPÐUS® EÒÍ ÂQu® GßÚ? 

(A) 400 : 1   (B) 1 : 400 
(C) 1 : 9   (D) 9 : 1 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

83. Find the ratio of 1 kg to 10g  

1 Q÷»õ Qμõ•US® 10 Qμõ•US® EÒÍ ÂQuzøu GÎ¯ ÁiÂÀ PõsP. 

(A) 100 : 1   (B) 1 : 100 
(C) 50 : 2   (D) 1000 : 1 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

84. Find the simple interest on Rs. 25,000 at 8% per annum for 3 years 

¹. 25,000 CUS 8% Ámi Ãu® 3 BskPÐUS uÛÁmi PõsP. 

(A) Rs. 12,000   (B) Rs. 6,000 
(C) Rs. 8,000   (D) Rs. 4,000 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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85. A sum of money at simple interest amounts to be Rs. 815 in the
3rd year and to be Rs. 854 in the 4th year. Find the sum. 
J¸ SÔ¨¤mh A\À JßÖUS uÛÁmi •øÓ°À 3 BskPÒ PÈzx, 

ö©õzu öuõøP ¹. 815 BPÄ® 4 BskPÒ PÈzx ¹. 854 BPÄ® 
ö£Ó¨£mhõÀ A¢u A\À GÆÁÍÄ. 

(A) Rs. 650 (B) Rs. 690 
(C) Rs. 698    (D)  Rs. 700 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

86. Find the rate of interest if the difference between C.I and S.I on
Rs. 16,000 compounded annually for 2 years is Rs. 40  
¹.16,000&CUS, 2 BskPÐUS QøhUS® TmkÁmiUS®, uÛÁmiUS® 

Cøh÷¯²ÒÍ Âzv¯õ\® ¹.40 GÛÀ Ámi ÃuzøuU PõsP.  

(A) 4.5% (B) 5% 
(C) 5.5%   (D) 6% 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

87. The population of a town is increasing at the rate of 8% p.a. It was
801900 in the year 2021. Find the population in the year 2019. 
J¸ |Pμzvß ©UPÒ öuõøP BskUS 8% AvP›UQÓx. 2021 B® Bsk 

©UPÒöuõøP 801900 BP C¸¢ux. 2019 B® Bsiß ©UPÒ 
öuõøPø¯U PõsP. 

(A) 687500 (B) 687600 
(C) 687700   (D) 687800 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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88. The ratio of the volumes of two cones is 8 : 9. Find the ratio of their 
radii if the height of the second cone is four times the height of the 
first cone. 
C¸ T®¦PÐøh¯ PÚ AÍÄPÎß ÂQu® 8 : 9 BS®. Cμshõ® T®¤ß 

E¯μ® •uÀ T®¤ß E¯μzøu¨ ÷£õÀ 4 ©h[S GÛÀ AÁØÔß 
Bμ[PÎß ÂQu® PõsP. 

(A) 3:23  (B) 3:24  
(C) 4:25    (D) 5:25  
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

89. The length, breadth and height of a cuboid are in the ratio 5 : 3 : 2.
Its volume is 1920 cm3. Find the length of the cuboid. 

J¸ PÚa ö\ÆÁPzvß }Í®, AP»® ©ØÖ® E¯μzvß ÂQu® 5 : 3 : 2 
GßP. Auß PÚAÍÄ 1920 ö\.«3 GÛÀ AUPÚa ö\ÆÁPzvß }Í® 
PõsP. 

(A) 18 cm (B) 19 cm 
 18 ö\.«      19 ö\.« 

(C) 20 cm   (D) 21 cm 
 20 ö\.«    21 ö\.« 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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90. If the biggest circle is cut from a square of side 14 units, then the
remaining area in the square is approximately  

14 A»S £UP AÍÄÒÍ J¸ \xμzv¼¸¢x ªP¨ö£›¯ Ámhzøu 
öÁmiö¯kzuõÀ «u•ÒÍ £Sv°ß £μ¨£ÍÄ ÷uõμõ¯©õP ––––––––––
BS®. 

(A) 40 sq.units (B) 41 sq.units 
 40 \.A»SPÒ      41 \.A»SPÒ  

(C) 42 sq.units   (D) 43 sq.units 
 42 \.A»SPÒ    43 \.A»SPÒ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

91. P  and Q  can do a piece of work in 40 days and 60 days respectively.
They started the work together and Q left after some days of work 
and P  finished the remaining work in 5 days. After how many days 
from the start did Q  leave? 

P  ©ØÖ® Q  BQ÷¯õº J¸ ÷Áø»ø¯ •øÓ÷¯ 40 ©ØÖ® 60 |õmPÎÀ 
•i¨£º. AÁºPÒ C¸Á¸® JßÓõPa ÷\º¢x ÷Áø»ø¯z öuõh[QÚº. ]» 
|õmPÒ ÷Áø» ö\´u ¤ÓS Q & BÚÁº ö\ßÖÂkQÓõº. «u•ÒÍ 

÷Áø»ø¯ P  BÚÁº 5 |õmPÎÀ •iUQÓõº GÛÀ öuõh[Q¯v¼¸¢x 
GzuøÚ |õmPÐUS ¤ÓS Q  ÷Áø»ø¯ Âmka ö\ßÓõº? 

(A) 21 days (B) 20 days 

 21 |õmPÒ  20 |õmPÒ  

(C) 22 days   (D) 23 days  
 22 |õmPÒ    23 |õmPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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92. YX ,  and Z  can do a piece of job in 8, 12 and 16 days respectively. If

YX ,  and Z  work together to complete, then find Y’s share if they

will be paid Rs. 26,000 for completing the job.  

YX , ©ØÖ® Z  BQ÷¯õº J¸ ÷Áø»ø¯ •øÓ÷¯ 8, 12, 16 |õmPÎÀ 

•i¨£º. YX ,  ©ØÖ® Z  BQ¯ ‰Á¸® JßÖ ÷\º¢x A¢u ÷Áø»ø¯ 

•izuõÀ AÁºPÐUS ¹. 26,000  ÁÇ[P¨£k® GÛÀ Y ö£Ö® £[QøÚU 
PõsP. 

(A) Rs. 10,000 (B) Rs. 12,000 

 ¹. 10,000     ¹. 12,000 

(C) Rs. 6,000   (D) Rs. 8,000 

 ¹. 6,000    ¹. 8,000 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

93. Find the missing number in this puzzle? 
C¨¦v›À EÒÍ Âk£mh GsønU Põs. 

?76
3785
1773

=+
=+
=+

 

(A) 41 (B) 39 
(C) 40    (D)  38 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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94. Find the minimum number of straight lines used in forming the
following figure. 
¤ßÁ¸® £h® Aø©¯¨ £¯ß£kzu¨£mh SøÓ¢u AÍÄ ÷|ºU÷PõkPÎß 
GsoUøPø¯U PõsP. 

 

(A) 10 (B) 12 
(C) 13   (D) 11 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

95. 
When two dice are rolled, the probability of getting same faces on
the dice is  
Cμsk £PøhPÒ JßÓõP E¸mh¨£k®÷£õx, C¸ £PøhPÎ¾®, J÷μ 

•P[PÒ Qøh¨£uØPõÚ {PÌuPÄ —————— BS®. 

(A) 6
5  (B) 36

31  

(C) 216
6    (D) 6

1  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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96. If A → 1, B → 2, C → 3,..., Z → 26 and ABC  represents BEJ then 
CDE  represents –––––––––––. 

A → 1, B → 2, C → 3,..., Z → 26 GÚU öPõsk ABC Gß£x BEJ
Gß£øuU SÔzuõÀ CDE Gß£x GøuU SÔUS®? 

(A) JOZ (B) JOY 
(C) JQZ   (D) JQK 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

97. A → 1, B → 2, C → 3,..., Z → 26 using this if 7
CAT
DOG = then 

?
PIG

BULL =  

A → 1, B → 2, C → 3,..., Z → 26 GÚ ©v¨¦ öPõshõÀ, 7
CAT
DOG =

GÛÀ ?
PIG

BULL =  

(A) 8 (B) 6 
(C) 10   (D) 7 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

98. If A → 1, B → 2, C → 3,..., Z → 26 then find 3333 OKJI ++++   

A → 1, B → 2, C → 3,..., Z → 26 GÚ GkzxUöPõshõÀ 
3333 OKJI ++++   &ß ©v¨¦ ¯õx? 

(A) 13104 (B) 13004 
(C) 12104   (D) 13114 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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99. Fill the blanks for the following series  
öPõkUP¨£mh öuõh›À Âk£mh Chzøu §ºzv ö\´P. 

A 17, D10, G14, —————— M11 

(A) J7 (B) K4 
(C) J4   (D) K7 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

100. Fill in the blanks  
Âk£mh Gsøn {μ¨¦P. 

91, 98, 95, 102, 99, 106, ——————, —————— 

(A) 110, 107 (B) 127, 124 
(C) 103, 110   (D) 101, 108 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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